MHF 4U0 i Semester 2, 2008 - 2009
Grade 12 Advanced Functions (University Preparation)
Unit 3 — Major Test on Polynomial Functions
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i. Determine an equatlon of the polynomial function y = f(x) whose graph is shown at the .
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1. Solve the equation 3x’ —=3x’ —7x+5=x"-2x"~1. (6 APP)
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5. Solve the following inequalities. In both cases, express the solution both as a set and with the use of a number line.
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6. Write an inequality that corresponds to the diagram given at the right. In =46 prS 2
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9. A box that holds an expensive pen has square ends and its length is 13 cm greater than its width. If the volume of the box
is 60 cm’, determine its dimensions. (5 TIPS)
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